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Question 1 (25 marks) 

The vertical channel of communication is one of the most important channels of 

communication in any organisation. Describe the two vertical communication systems and 

highlight the barriers associated with the two systems. 

(600 words) 

Question 2 (25 marks) 

The grapevine is a regular system of communicaion among employees which occurs outside 

the normal channels of communication. Write an essay paying special attention to the 

following: i) Why the grapevine is important ii) three major functions of the grapevine iii) why 

the grapevine cannot be eliminated iv) what research has proved about the grapevine v)the 

characteristics of the grapevine and vi) problems posed by the grapevine. Provide relevant 

examples in your discussion. 

(600 words) 

Question 3 (25 marks) 

“The Systems Approach is the most efficient approach to be employed in any organisation as 

it allows free flow of information.” In light of the above quote, discuss communication 

patterns that can be used in an organisation where the Systems Approach is used. 

(600 words) 

Question 4 (25 marks) 

Write an essay describing the main characteristics of the Classical Approach. If an organisation 

adopts it, examine how it would influence communication processes. 

(600 words)


